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A Selection from the Opera

Manon Lescaut

=56~63

II'Havre "

N

1aggio a
Andante calmo J

=52
D)

t.
|V A DAL

O "7 [ NTE [ NTE [ NTE [ NTE [ RNTE DT N N L

@"
)
"Tv

/7 #

Tuba in EI’
(T. C.)

10

M1 YA T 'R M v [T T
bl o o Enl
L 5 M B
f S 1 P L
S . e ) i) »
" S e TTTeA o~ o
-+ R 7T i H) P ] L
L[ T~ LT
. = H e LE
A~ <) . ) > (L -
o = |l HLERS A \UA M M T
Y L ™ Ll S~
_ _‘ E T A 1 \\;> u./\/ ANH‘
L - i A TTTeA B ) J
K gung o B
A~ W X A o
= e o H
N © T am T
L N A i N s e
L T - TP A . T
nin — N oy
A _.M (1T w - \\Mﬂ> o~ uM\
A = S [TTT] TTTeA AN e
S s = ) |
N 1 . |
L i *h e e g e A & | o
e ™~ T 2 5 S H i EyiR B
L A e — e & L
A o & n -+ m M \\\‘ A E HWWH -
| < . D N
S : 8 . Ty
* T S 4 TTeA
o =) i ﬂ x L o o~
o M u m o~
ﬂ < 5o |
4 p & 5 . x\\‘
A v \/ HENE % — TTT®A
N < L T
U7 Pan! <[ A 'L . e il
||||0 17 - e A _M uM)
- y @ 1 1T &M T
~) o o
A « PN . m
s T g o~
) ™ voog T
. ™ < |7 Il . T T
IpiN ] . ~ i ./ o
Nl m mE I u/\/
o~ pram pr.v A~ 11 O> [1®
. I S w0 Il
LT | | Iy
» <1 Oy * e <Y > u e
R T )
E<S wnw ~ nﬂwﬂﬁ .nuﬁ.u uﬂwu ﬁwuw
A gt gt N £t A
O™ < O™ N N O™
e = NEe SN s ST % e o« NG =N

© Copyright 2010 by Brain Co., Ltd. (Hiroshima, Japan)

All rights reserved.



Tuba in E? (T. C.)

#
gt

87

/O #

93

st

mf

oA

rall.

103

e e

N4

1Ty

7

™A

rall.

a tempo

Mbolto sostenuto

[J]
o4 1

118

N

I =T 3

N
YU

N
/

7

42160

K]
o 4 1
{—=ptt

124

RLYES

131

I
D
’

N Y o DY
A | Hg 7 /
H'

o/
Vi

g4—

I

o4 1
&gt

138

g

NS o
/

IR
/A

N #
gt

145 n /‘4/1

=

I

A

> > = > o0— >

> =

151

p—

gt

=L

stringendo

IT®A

[T®A

N
N
1, 1

Y spt

2
i
—
=) i
e
‘@
2 N
&
S All
A
o
M o

stringendo

a tempo
(7]

#

N #
&t

163

1N/
1K S|

L4
yia

k

A

A

(anY
ANIV4

ELIRS




stringendo

Tuba in E? (T. C.)

e

= = = =

P

174

=

rall.

J:56

o4t

1/

1= 3

A

184

®A

IT®A

I
7

Ll

" Donna non vidi mai " -Duetto- Manon e Des Grieux
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